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Beoring Formula: 4R ~ W

DIRECTIONS:

.Do not open this booklet until you gre'told'to'do BO.
'For each problem there are listed 5 possible AnEWers.. You
are to work each problem and determine which is the correct
'"answer, and indicate your choice by meking a heavy black mark
in tha correct place on the separate answer sheetb provided.
A sample follows:

1. If 2x=%, then x sguals:
1) 2735 (2) 33 (3) &
- (4) 3/2;5 (%) none of thene,
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 The:correct answer for the sample question is "2/2%, which
is answer (4); therefore, you should anawer this question
by making a heavy black mark under apaee 4 as indicated
above. 7 ‘ ; .

" If you should change your mind about én aﬁswer, be sure
to erase completely. Aveoid wild guessing, as wrong answers
count; againat you. Do not mark more than one answer for any
questiené Make no stray marks of any kind nn your answer
sheeat.,

.. When told to do 80, open your test booklet to page 2 and
begin. When you have finished one page, go on to the next
page. The working time for the entire test is 5O minutes.
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(3) 2x+3y=6; (4)3x+2y=6
" (5) none of these. |

el
The frmetion mim:mmgmm may be written as
R T S o | o
MW fzal 5 @ e s ) Lo
L + b o+ & 1L+ a

(4)'”%w'; (5) none of these.

The sum of _""‘“%""“’ and m%» i

(1) _ab_ 3 (2) & + v 5 (3 _giﬁ%_klm
21 :

ba
(5)  none of these,

The line In the graph charﬁ is the -
graph of the eqguation: ;

(1) 2x ~ 3y = 6 3 (2) 3%~ 2y = 6

. e e

s (#) _ax b s
oo b4 oa
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If (& - 5x + 6)_ is aivided by {%x o gg ‘the
w2 + & '

3 (3) w4 4);

(1) {xgw ) ,.'; (2) : (3{’} -0 BY o 8}

6.

tC1)  (k + f5m131§ H:(2>,f(x ~VET) (3

(4 (2 - 2)3 (5) It cannot be factored.
1f the silde, @, of a square is increased by
area is increased by how many units of area?

guotient is

and

e o (Bxel) o
(4 _(x' + 2x + ax + B) (5) none of these.
I

' Factora_of'(x? e NB %K +2) are (x -V2)

G- s

5 units, the

(1) 255 (2) 58 + 255 (3) 25 - 583 (4) 108 + &,

(5) none of these.
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1# five-sixths of & number &a increased by 17, the resull
is 62, The pumber iz

(1) mﬁgjmv (2) &ﬁi‘ iﬁ)m£%§M° (4) 545 (5) none of these.

The coordipates of the peint of intersectlon of the grapha
of the equations ¥ = 4x - 3 end ¥y = 2% + 5 are _

(1) (=3,-903 (D (<9, «3); (35} (9, 35 fa) (3, 9

(5) none of theﬁeb

11 &mP@Prm them P = |
(1) A& s (2 A .5 (3 rmnémwmj RO A(l + orB)s
rt (1 + rt)

{5) none of these.

‘The root of the equation ;%w -2w 3% +5 is
i

o 335 (?) -(5)--w-28§ {4) %23 (5) pone of these.

11,

12,

13,

The sum of f%¥é9§3w. and {xx y‘) .
(1) 2% + 33 g;
+xx&m ¥ - ) %%r
(3) . L | | “s' {4) %§¥ 4 3;2,, - (5) ﬂaﬁélof'thaﬂa.
C(x -y ey ) PRI SCEEN.

_F&atcfs of (X = 3?)'ara; (x = y) and

(x)y (& +a.xy_+vﬁ), '(2) (xﬂ maxgr*y’)g

(3 Of - xy o+ P (#) (x‘ + X5+ )y (b) none of thess.

Which of the following ordered pairs of numbers does not

- represent the coordinstes of a paint of the }ocua of the

equation ¥y = ¥ 4+ 47
(1) iy 5) 5 (&) (-1, 5y () (0s 4} () (2 8)9
(%) (4, 0).



14, A set of straight lines is desceribed by the equations .
Yy a3x+ 2, y=5%x4+ 2, and y + x = 2, Nach of these
line® has the BRI

(1) slope; {(2) y-intercept; (3) angle of inclination-
(4) x-intercept; (%) none of these,

15; ir (2 - #k - 8Y is divided by (% - 2),-the:remainder is
(1) sy (2) 12y (3) ~12; (#) 43 (5) none of these.

16, The perimeter of a rectangle is 28. The width is denoted
by W. The length is : .

(1) 28 - (2 - (3 W (B) 28 - (W2
(5) none of these. = R

17. Two positive numbers are in the ratio 7 to 3. Thelr
difference is 40. The larger number is

(1) 105 (2> 30; (3> 70; (4) 28; (5) none of these,

18. A board is cut intc two pieces. One piece is 3/4 as long
as the original board and is 1% 1/2 feet long. The number
of feet in the length of the original board wae

(1) 18; (2) 8L/8; (3) 54/7; (4) 135/8;
(5) none of these.

~19. Which of the following numbers has no reciprocal?
- (1) 1/2; (2) 13 (3) 0y (&) 0.3; (5) 'none of these.

20. A store marked the selling prices of one lot of its goods
80 as to make a profit of 40 ¥, of the cost. If the selling

price of an article is $39.90, what was its cost?
(1) $23.945 () be8.50; (3) $15.96
(4) $55.86; (5% none of these.

21. If x < 0, which of the following statements is true?
(1) Ixl =% (@ =l >x (3 x| <x (# |x|=0;
(5) none of these. |



22. - _ L ¢
L ~g'+,€n + n). The above equation 18 & svatement of the

If a, b, and ¢ sre real numbers, then (& + b) + ¢ =

{1) © assoeciative lawy  (2) }¢¢mmutatiVﬁ;1aw;‘-

23.

(3) . distribubive law; (4) reflexive law; o
(5) symmetric law of addition of real pumbers.

The number of'revalutiona N of a gear is inversely

“:proportional to the radive r of the gear. Thiszstatemenp

L. can be. expressed as

(1) Nokey (2) Na2nry (3) Nawlfry (#) N =k/r

. (5) nmone of these.

24,

25

26,

27.

ﬁ_?he expression |y§ < '5':113 .QQuivaleﬂt 1':.'0 the e;épréssion
) y<3 (@ y=3 (3 =-3<y<35
(4) y < «3 and y > 3 {5) none of these,

In a certain two diglt ‘number, the units® digit is '5‘ more
then the tens® digit.  If the digits were reversed, the
new number would exceed twice the number by 7. The number

ie
(1) 38; (2) 83 (3) 4% (#) 27; (5) nome of these,

éﬁe“ﬁie‘x’:‘aber“_af tkﬁe ‘ézé'i; £ a {(x, v) w, . 2% *_3} is
() Gy (@) (5, 005 (3 (3, 32)5 (M) (3 9)s

A vat contains 4 gall‘ons of & solution that is 40 % acid

and 60 % water. How much water should be added to make
a mixture that is 30 % acld? S R

(1) 3 quarts;  (2) 4/5 gallons; (3) 1.2 gallons;

- (4) 6 quartss . (5)  none of these.

28.

The ki'd{enti’cy element with respect to the operation addition

(1) O .(2) 1, | (53 «-é; :(4) 1/3.; (5) none of these,



29, 4 hiker wellking in a gtralght line at the rate of 4 miles
an hour leaves & cemp at 2:00 P.M. A second hiker walking
5 miles an hour sterts after dm i 2:30 P.M. - ¥hen will
the second hiker catch wp with the first one?

(1) 4:00 P.Me; (2) 4:30 PuM.; (3) 6:00 P.Moj
(4) 6:30 P.M.; (5} none of these. B

56;  The:axpﬁesaion V{=EJ¥"  is equivalent to thé“expmaaaiéﬁ
(1) -5; (2 25; (3 -5 (4) -5} (5) none of these.

31, The length of the radius of cirele ¥ is three times the
length of the radius of circle M. If the area of cirole
¥ is A, the avea of circle N is : »

(1) 3y (2 A3 (3 9a (W) VIS (5) /9.

%2, If a and b are real numbers, the value of X in the equabtion
oo 2% 4+ 54 8= bx + 7 18 unique

(1) 1fa £ 2b; (2) 1if & # 6; (3) 4 b A 0; (4) 4f b 4 24
(5) for all & and b. | | EERTIEE S

2%, The product of % and 6 ﬂiwid@d by their S ié
(1) 23 (&) w2y (3) 183 (4) 6; (5) nvome of these.

3, Given that ¥, ¥y, and 2 are non-gerc real numbers, such
that x £ 2, v A 2. If V% + L/y = 1/%, then x squals

(1) g -v; (2 v~28;5 (3 ¥ » (&) __J5.5
I AR A ¥tz
(5) pone of these. o S

35, Three times Apndy‘’s ﬁg@ addaed to B@h’afage'is legs than
50, Pour times Andy®s age minus Bob's age is 34. 1f a
represents Andy’s age and b represents Bob®s age then

(1) & <12, b >y (2) & <12, b= 245 (3) a <12, b < 14y
(@) a < 12, but we can pub no bounde on bj {(5) none of thease.,

36, If y = a + (b/x), where & and b ere constants, and if y = 1
when X » =L, and ¥ = O when % = =5, then s + b equals

(1) -3 (2 03 (3) 1y (4) 203 (5) 21.
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39.

On an examination of m questiong a student answers
correctly 25 of the fivet 30. Of the remaining gquestions
he snswers two thirds correctly. All the questlions have
the mame credit., If the student's mark is 75 %, how
many different values of m can De found?

(1y 13 (2) 23 (3) 33 (4) 4
(%) the problem can not be solved.

The Cartesian product of the sets A and B is defined by
the following statement.

AxB a‘{(x. y) IxcA and yeé}.
It 4 « §r, 8, t} and ¥ = {2, 3}, then 4 x N =

(1) {}, 2, B, 3, ﬁ} i (2) {kr.EDg (aﬁﬁi} ;
(3) f(2,0), (2,8), (2,8), (3,2), (3,8), (3,00}
() {r,2), (£,3), (8,2), (8,3), (£,2), (5:3F

(%) none of these.

Given ay = 1, & = %, and the general relation

aﬁ ~(an_1) (an+l) = («1)® for n > 1. Then 8, equals

(1) 13/27; (2) 103 (3 21; (&) 33 (5) - 17,

Agsume that the following three statements are true:

I. All seniors are human.
1I. All students sre human.
II1. Some students study.

Given the following four statements:

a) All seniors are students.

b) Some humens study.
{¢) No senlors study.

a Some humansg who think are not students.

Those which sre logical comsequences of I, II, and III
are:

(1) by (2) a; (3) byey (4) bv,a; (5 a,b.






